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4. A, B and C are three horizontal points. The GPS-observed horizontal baseline
components are as follows. The coordinates of A are given (fixed).

Baseline A X (m) AY (m)
A-B (B minus A) 13.01 22.04
B-C (C minus B) 13.03 -10.00
C-A (A minus C) -26.00 -12.01

A X and A Y the differences in X (west-east) and Y (south-north). The observed
baselines are to be adjusted using the method of condition equations.

(a) How many independent condition equations can you form? (5%)

(b) Assume all the components have an identical weight. Compute the adjusted

baseline components. (10%)

5. A square matrix C is defined as C=I-A(ATA)'1AT, where A is a rectangular matrix

and I is an identity (unit) matrix (T: transpose). Show that

(2) C=CT. (10%)
(b) C=CC. (10%)




